H £ 0l & AF & S

0248 =g 1 3 LEta =gt

Al A

HAage|(8F/HII2)
JRE JI2EABXH EER=E)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
=2 30,477,086 24,903,299 5,573,787
= 18,000 0 18,000
Al 3,813,788 53,100 3,760,688
- 26,645,298 24,850,199 1,795,099
ozl (2Z/HDI8) 22,862,353 17,458,898 5,403,455
= 18,000 0 18,000
Al 3,800,688 40,000 3,760,688
- 19,043,665 17,418,898 1,624,767
MRE 2 EEH 14,784,081 14,766,033 18,048
Al 35,000 35,000 0
- 14,749,081 14,731,033 18,048
Rt HeletsSol 291,562 282,562 9,000
Al 7,000 0 7,000
e 284,562 282,562 2,000
201 er2 3| 246,062 237,062 9,000
Al 7,000 0 7,000
- 239,062 237,062 2,000
01 AtR2t2l] 242,700 233,700 9,000
OXtz=g AL X 28 +
1,500,000 1,500 0 1,500
Al 1,500 0 1,500
O=2el=AHg M 2,000,000 2,000 0 2,000
Al 2,000 0 2,000
ORHSI| ¢UHE M 1,500,000 1,500 0 1,500
Al 1,500 0 1,500
OHSSZE =HEJ| EXIA
400,000 * 10CH 4,000 0 4,000
Al 2,000 0 2,000
oE 2,000 0 2,000
BAXE g =8 149,921 123,173 26,748
201 LEH2 | 149,921 123,173 26,748
2 S22l 147,905 121,157 26,748
OFaxxtg = & RFHI 118,570 95,760 22,810
- HAXE =4 d& 37,320,000 37,320 22,320 15,000
- LEHEAX AOIEER S
165,000 3074 4,950 0 4,950
- LHEAX EdENA
286,000 *10H 2,860 0 2,860
O =IHAF =Xt &X
3,938,000 *1CH 3,938 0 3,938
UEmIIS "Ile=H =Y 7,700 A7,700
201 er2 3| 7,700 A7,700
01 AFR2t2ltl 7,700 AT,700




A AE=gt
2

Hz: HAHC|(EHH/HDIS)
o2 RS OtE2EETY (EEEE))
SA-ZE - SA(FAH) - NISAY - BES Ofl kel N3 A Hwsz2
OUEHYI2 s=&2¢8t QI2IRIE =2 2D}
HatzSA 28 02 0 7,700 AT7,700
Med] REEI| Y 40,000 50,000 210,000
Al 28,000 35,000 A7,000
- 12,000 15,000 A3,000
405 XHAHE SHI 40,000 50,000 10,000
Al 28,000 35,000 A7,000
- 12,000 15,000 A3,000
01 XL ESF S| 40,000 50,000 210,000
OZ AP0 OISA)
238 40,000,000& 40,000 50,000 210,000
Al 28,000 35,000 AT7,000
- 12,000 15,000 A3,000
HOIZ2 2 & N3t 8,078,272 2,692,865 5,385,407
= 18,000 0 18,000
Al 3,765,683 5,000 3,760,683
- 4,294,584 2,687,865 1,606,719
Mass a8 23 978,335 633,436 344,899
01 2I1248| 84,896 0 84,8%
M IRHZ22RsSE+ 84,8% 0 84,8%
OHEHE AEIZE 2E85Y 84,8% 0 84,89%
-JlE23(0Rr2esy 28
79,2403 »6H 87 2 x150% 62,045 0 62,045
- YIRS 79, 2402 *6H +6 2 #5(% 1,427 0 1,427
- FSELSFL(FR, X EE)
79,2403 x6H 27 Y 12,837 0 12,837
- IVHAFEERYEZ
76,309,000 %4, 5% 3,44 0 3,434
- MNBERY2 76,309,000 * 1% 764 0 764
- Ng28Eed3 76,309,000 *1.75% 1,336 0 1,336
- ZUHLYBEEEZ
76,309,000 *3.545% 2,706 0 2,706
LoD QALERES
2,706,000 *12.81% 347 0 347
201 Let23y| 132,250 113,436 18,814
01 ArR222ltl 18,414 9,408 9,006
ONSXAX SAHHAMASEHZ
438,300 +2CH 877 0 877
ONESSHYEE 2201 HNMBAEE 2
2 8,129 0 8,129
- OtN S} 49,500 x22H 1,089 0 1,089
- OHM 2%} 12,0003 x22% 264 0 264
- ohMEZ & FOH
3,000 x22 80K 5,280 0 5,280
- 220tA3 12,0002 #22H #48k A 1,056 0 1,056




2A:
X XH -
o e

=aak

SA - B SA(3) - MRAY - BES 0l Ary p/IE- - HimE=ET
- BABE(AY%E, 2 5)
20,0002 x22H 440 0 440
02 2324l 113,836 104,028 9,808
OMgEs d8d dIIes 44,336 34,528 9,808
- MEERs 2 & 39,160,800 39,161 29,353 9,808
401 AlIEHIZL 2 0HY| 761,189 520,000 241,189
01 AIZHI 761,189 520,000 241,189
OYASSEE &II&Hl A
40,700,000 40,700 0 40,700
OYASSEE Salabl A
11,357,000& 11,357 0 11,357
OFDB YNIIEASES B
189, 132,000& 189,132 0 189,132
ZoltiE 2223 2 s 08t 133,377 130,969 2,408
Al 1,688 0 1,688
- 131,689 130,969 720
201 ZEH2 & 51,088 48,680 2,408
Al 1,688 0 1,688
T 49,400 48,680 720
01 ArR2eltl 51,088 48,680 2,408
ATS BEFY 22140 &%
301,000 +8CH 2,408 0 2,408
Al 1,688 0 1,688
- 720 0 720
AOLE D2l g3 Aess Z2HE 5,000,000 0 5,000,000
Al 3,750,000 0 3,750,000
- 1,250,000 0 1,250,000
401 AlIEHIZL 2 0HYI 5,000,000 0 5,000,000
Al 3,750,000 0 3,750,000
T 1,250,000 0 1,250,000
01 Al&Hl 5,000,000 0 5,000,000
OALOIE O g+ NHded ZZRE
5,000,000,000& 5,000,000 0 5,000,000
Al 3,750,000 0 3,750,000
- 1,250,000 0 1,250,000
CHal&0] THALE SEIAL 38,100 0 38,100
= 18,000 0 18,000
Al 9,000 0 9,000
T 11,100 0 11,100
201 ZEeH23 ] 38,100 0 38,100
= 18,000 0 18,000
Al 9,000 0 9,000
T 11,100 0 11,100
01 ArR2eltl 38,100 0 38,100




A AE=gt
M FAe|(BE/HII2)
2F

Rl HUIE 2" ¥ s EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
Otizledy 28 MY 36,000,000 36,000 0 36,000
= 18,000 0 18,000
Al 9,000 0 9,000
- 9,000 0 9,000
OBAMU B2d1 NED| SRz
350,000+ 1CH=6OH 2 2,100 0 2,100
HY2AHHI(KH =2 (JIEH/DIE 6,907,808 6,743,638 164,170
o2 (K& =&) 6,831,446 6,668,226 163,220
A2 IHI(XHE=&1) 6,831,446 6,668,226 163,220
04 HSRESS 1,196,950 1,033,730 163,220
4 BRA(RIHA)22N BEERES S 1,196,950 1,033,730 163,220
Ostdae|d 28 1,196,950 1,033,730 163,220
- ElXzs S 3 563,220,000& 563,220 400,000 163,220
Jl2ZHI(AE&=E) 76,362 75,412 950
J|23HI(RE &8 76,362 75,412 950
405 Atats = 950 0 950
01 Tt =S F=HI 950 0 950
O 20l Zely 950,000 *1CH 950 0 950
Hes (K& (J1EHIIE 6,162 0 6,162
SEXE (KR =2t 6,162 0 6,162
2AHIEES BHEH( =) 6,162 0 6,162
802 grat=JIE 6,162 0 6,162
01 =Ex3etE=a 660 0 660
020238 =HEAX XNJAS 24 OIXk
659,790 660 0 660
02 Al - EHIEESEHEZ 5,502 0 5,502
O20238 MaMed| e HEE XA
(S SSEUEEINIDN; 202,800 203 0 203
020238 HISILE =HEJ| EXIAE HHE
ot 2 Ol 3,490 4 0 4
020238 TAIZZAIY HHEN G Okt
711,160 712 0 712
020235 BSMMEE DIEIAIE EHE At &3
FSRLEETNVIDN; 3,757 ,550& 3,758 0 3,758
02023 THES20F XIJAIS 24 Ol Xt
5,760 6 0 6
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SEZ A B

= VIDN; 818,480 819 0 819




